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1. Find the difference between the values of numbers at point A and B
B A
< T I T I I I I I I I I I I I I o

A5 <14 -13 12 -11.-10, -3 -4 -7 -6 -5 4 -3 2 1 40

(i) 5 (i) 2 (ii) 1 (iv) (-1) (v) 3

-18
2. Find the position of the rational number ( 3 ) on the number line

] F Q@ M R
T T T

— T T T T 1 T
-5 -4 -3
(i) F (i) Q (iii) J (iv) M (v) R
3. 5.6 =
(i) 560 (ii) . (iii) 56 (iv) T (v) 28
25 125 5
18
4. 20— = =
13 ——
(i) 24 (i) 242 (iii) 22 (iv) 249 (v) 242
[ 13 1l 13 11 v 13 \% 15

5. Which of the following decimal numbers lie between9563and 95647
(i) 95634 (ii) 9562.2 (iii) 9564.4 (iv) 956.3 (v) 9563.4

3 1
6. Find the missing value in — + = -
14 2

(i) ! (if) > (iii) : (iv) 2 (v) :
4 7 3 7 7

14
7. - x9=
13 —
o 124 ) 128 g 126042 0 126
13 13 13 5 11

8. Find the sum of the rational numbers at the points labelled with letters G and H

G H
< [ l [ I | T [ I 13 l I I | l | I [ [ I I [ -
-6 5 -4
@ Yy oay By an (22 v Y W (2
| 2 I 8 11 10 v 10 Vv 12



Convert the non-terminating recurring decimal 8.22222222222222...
" to rational number

(i) 74 (ii) 74 (iii) 8 (iv) 74 (v) 76

[ ii iii iv v

11 7 9 9

10. Which of the following decimal numbers lie between8257.80and8257.817

(i) 82578.043 (ii) 8257.817 (iii) 8257.799 (iv) 825.78 (v) 8257.804

12
11. 10+ =
5 - —
(i) 02 (i) 12 (iii) o4 (iv) 02 (v) 02
) o i) v 5 ) g

12. The decimal number -1.0019 lies between

(i) {-1.0009,-0.9999} (ii) {-1.0029,-1.0009} (iii) {-1.0039,-1.0029} (iv) {-1.0021,-1.0020}

(v) {-1.0018,-1.0017}

13. The decimal number 0.765 lies between

(i {01} (i) {-2,-1} (i) {-1,0} (iv) {2,3} (v) {1,2}

14. Which of the following are true?

a
b
C
d

8X12=12%8
10+8=8+10
2-10=10-2

)
)
)
) 12+2=2+12

(i) {c,d} (i) {b,a} (i) {b,d,a} (iv) {b,c,a} (v) {a,d}

8
15. Express 3 as a decimal correct to 3 decimal places

(i) 0.789 (ii) 0.889 (iii) 1.089 (iv) 0.689 (v) 0.989

16. The decimal number 11.8 lies between

(i) {12,13} (i) {9,10} (i) {13,14} (iv) {10,11} (v) {11,12}

17. Which of the following is true?

a
b
d
d

) 12.7600—-3.7000=3.7000—-12.7600
) 16.8400%18.4200=18.4200%16.8400
) 3.7000+16.8400=16.8400+3.7000
) 18.4200+12.7600=12.7600+18.4200

(i) {b,d} (i) {a,d,b} (i) {a,b} (iv) {a,c,b} (v) {cd}

18. Find the difference between the values of numbers at point A and B

A B
I I I T I I T I I I I I I I I I B

¢ -9 8 -1 6 5 4 3 -2 -1 04 1 2 3 4 35

(i) (-5) (i) (-1) (iii) (-4) (iv) (-2) (v) (-3)




19.

20.

21.

22. -

23.

24.

25.

1
12X - =
3

(i) 4 (i) 3 (iii)

2

(iv) 5 (v) 6

(i) 11 (i) 7 (i) 8 (iv) 6 (v) 9

Find the difference between the decimal values at point A and B

B

A

R I

I T I I I e

00 01 02 03 04 05 06 07 08 09 10 11 12 13 14 15 16

(i) 1.1000 (ii) 1.2000 (iii)) 0.9000 (iv) 1.0000 (v) 1.3000

2

+5=
16 -
(i) ! (ii) 3
V40 " 40

(iii)

a2 W 35

The solution of V19 lies between

(v)

40

(i) 4.36 and 4.37 (ii) 4.33 and 4.34 (iii) 4.35 and 4.36 (iv) 4.34 and 4.35 (v) 4.37 and 4.38

Find the periodicity of the recurring decimal 0.3

(i) 0 (i) 3 (iii)

1 (iv) 2 (v) -1

The decimal number 0.31 lies between

(i) {0.29,0.30}

(if)

{0.21,0.41}

(iii)

{0.32,0.33} (iv) {0.11,0.21}

(v)

{0.41,0.51}



Assignment Key

1) (i) 2) (iv) 3) (v) 4) (ii) 5) (v) 6) (iv)

7) (iii) 8) (iv) 9) (iv) 10) (v) 11) (i) 12) (ii)
13) (i) 14) (v) 15) (ii) 16) (v) 17) (i) 18) (v)
19) (i) 20) (iii) 21) (i) 22) (i) 23) (iii) 24) (iii)
25) (i)
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